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Q1. A, B, C, D, E, F are sitting on the round table with equal distances. F is sitting opposite to E and 

between A and D. C is sitting right side of E and opposite to A. Who are the neighbours of A? 

A, B, C, D, E, F एक गोल मज़े पर समान दरूी पर बठेै हैं. F, E के विपरीत और A और D के बीच में बठैा ह.ै C, E के दावहनी 

ओर बठैा ह ैऔर A के विपरीत बठैा ह.ै A के पडोसी कौन हैं? 

(a) F and D/ F और D 

(b) E and F/ E और F 

(c) E and C/ E और C 

(d) B and F/ B और F 

 

Q2. From the given alternative words, select the word which cannot be formed using the letters of 

the given word: 

ददए गए विकल्पों में स ेशब्द उस शब्द का चयन करत ेहैं विस ेददए गए शब्द के अक्षरों का उपयोग करके नहीं बनाया िा सकता 

ह।ै 

CONCENTRATION 

(a) CONCERN 

(b) CONTAINER 

(c) CONCERT 

(d) CENTRAL 

 

Q3. If ‘WZB’ stands for ‘DAY’, how will you code ‘MONDAY’? 

यदद ‘WZB’ का अर्थ ‘DAY’ है, तो ‘MONDAY’ दकस प्रकार वलखा िाएगा? 

(a) NLMWZB 

(b) PLOWZB 

(c) NMLWZB 

(d) PQRWZB 

 

Q4. If ‘+’ means ‘/’, ‘/’ means ‘–’ , ‘–’ means ‘×’, ‘×’ means ‘+’, then 

24 + 8/2 – 6 × 6? 

यदद ‘+’ का अर्थ ‘/’, ‘/’ का अर्थ ‘–’ , ‘–’ का अर्थ ‘×’, ‘×’ का अर्थ ‘+’ है, तो 24 + 

8/2 – 6 × 6= ? 

(a) –10 

(b) –3 

(c) 12 

(d) 21 
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Q5. In this question, some equations are solved on the basis of a certain system. On the same basis 

find out the correct answer from amongst the four alternatives for the unsolved equation. 

इस प्रश्न में, कुछ समीकरण एक वनवित प्रणाली स ेहल दकए गए हैं। उसी आधार पर ददए गए चार विकल्पों में स ेवबना हल दकय े

गए प्रश्न के वलए सही उत्तर चनुकर वलवखए। 

7 × 6 × 8 = 678 

8 × 9 × 7 = 987 

6 × 5 × 7 = 567 

5 × 4 × 6 = ? 

(a) 456 

(b) 564 

(c) 645 

(d) 654 

 

Q6. Select the missing number from the given alternatives: 

ददए गए विकल्पों में स ेअज्ञात सखं्या का चयन करें. 

 
(a) 9 

(b) 8 

(c) 7 

(d) 6 

 

Q7. A man starts from a point, walks 5 km towards East, turns right and walks 3 km, turns right 

again and walks. What is the direction he is facing now? 

एक आदमी एक बबदं ुस ेचलना शरुू करता है, पूिथ की ओर 5 दकमी चलता ह,ै दाए ंमडु़ता ह ैऔर 3 दकमी चलता है, दिर स ेदाए ं

मुड़ता ह ैऔर चलता ह।ै अब उसका मखु दकस ददशा में है? 

(a) North/उत्तर 

(b) South/दवक्षण 

(c) West/पविम 

(d) South-west/दवक्षण पविम 

 

Q8. Consider the given statement/s to be true and decide which 

of the given conclusions/assumptions can definitely be drawn 

from the given statement. 

आपको मानना ह ैदक ददया गया िक्तव्य सत्य है, चाह ेिह सामान्यतः ज्ञात तथ्यों स े

विन्न प्रतीत होता हो। आपको वनणथय करना ह ैदक ददए गए िक्तव्य स ेवनवित रूप स े

कौन-सा/स ेसही वनष्कर्थ/पिूथधारणा वनकाली िा सकती है?  

Statement /कर्न 

1: All animals are four-footed./ सिी िानिर चार पैर िाले हैं 

2. Dog has two legs./ कुत्ते के दो पैर होते हैं 
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Conclusion /वनष्कर्थ 

I. Dog is not an animal./कुत्ता एक िानिर नहीं ह.ै 

II. Dog is an animal./कुत्ता एक िानिर ह ै

(a) If only I follows/ यदद केिल I अनुसरण करता ह ै

(b) If only II follows/ यदद केिल II अनुसरण करता ह ै

(c) If neither I nor II follows/ यदद न तो I और न ही II अनुसरण करता ह ै

(d) If both I and II follow/यदद I और II दोनों अनुसरण करता ह ै

 

Q9. In the give cubes, which colour is opposite to purple? 

ददए गए घनों में, बैंगनी के विपरीत कौन सा रंग है? 

 
(a) Violet/ बैंगनी 

(b) Red/लाल 

(c) Yellow/पीला 

(d) Blue/नीला 

 

Q10. Which of the following diagrams correctly represents elephants, wolves, animals? 

वनम्नवलवखत में स ेकौन सा आरेख हावर्यों, िवेड़यों, िानिरों के बीच का सही प्रवतवनवधत्ि करता है? 

(a)  

 
(b)  

 
(c)  

 
(d)  
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Q11. A's weight is more than the weight of C, and A has the second highest weight. E weighs more 

than A. B weighs more than D. Who is the heaviest? 

A का ििन C के ििन स ेअवधक ह,ै और A का दसूरा उच्चतम ििन ह।ै E का ििन A स ेअवधक ह।ै B का िज़न D स ेअवधक ह।ै 

सबस ेिारी कौन ह?ै 

(a) B  

(b) D 

(c) E  

(d) A 

 

Q12. A series is given with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

एक श्रखंला दी गई ह ैविसमें एक टमथ अज्ञात हैं आपको ददए गए विकल्पों में स ेउस विकल्प का चयन करना ह ैिो इस श्रखंला को 

परूा करेगा? 

HK,     ? ,     PQ,     TT,     XW 

(a) LN  

(b) NO 

(c) LK  

(d) NM 

 

Q13. A series is given with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

एक श्रखंला दी गई ह ैविसमें एक टमथ अज्ञात हैं आपको ददए गए विकल्पों में स ेउस विकल्प का चयन करना ह ैिो इस श्रखंला को 

परूा करेगा? 

JN,     OR,     UW,     BC,     ? 

(a) KM  

(b) JJ 

(c) JK  

(d) KJ 

 

Q14. Nikhil is 8 yr younger than his brother Rohan. How old will 

Rohan be when he is twice as old as Nikhil? 

वनवखल अपन ेिाई रोहन स े8 िर्थ छोटा ह.ै िब रोहन वनवखल स ेदोगणुा हो िाएगा 

तो िह दकतन ेिर्थ का होगा? 

(a) 4 yr 

(b) 6 yr 

(c) 8 yr 

(d) 16 yr 
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Q15. From the given alternative words, select the word which cannot be formed using the letters 
of the given word: 

ददए गए विकल्पों में स ेशब्द उस शब्द का चयन करें विस ेददए गए शब्द के अक्षरों का उपयोग करके नहीं बनाया िा सकता ह।ै 

ORGANISATION 
(a) GRANT 
(b) NATION 
(c) GIANTS 
(d) ORANGE 
 
Q16. If EARTHQUAKE is coded as EKAUQHTRAE then ELECTORATE will be coded as ? 

यदद EARTHQUAKE को EKAUQHTRAE के रूप में वलखा िाता ह ैतो ELECTORATE दकस प्रकार वलखा िाएगा? 

(a) ETAROELECT 
(b) EARTOTCELE 
(c) ETAROTCELE 
(d) ETAROCTELE 
 
Q17. If a denotes × , b denotes ÷ , c denotes + and d denotes - , then 8 a 3 c 24 b 12 d 19 = ? 

यदद a ‘x’ को दशाथता ह,ै b ‘÷’ को दशाथता ह,ै c ‘+’ को दशाथता ह ैऔर d ‘-’ को दशाथता है, तो 8 a 3 c 24 b 12 d 19 = ? 

(a) 17 
(b) 7 
(c) 14 
(d) 8 
 
Q18. Given equations are solved on the basis of a certain system. Find the correct answer for the 
unsolved equation on that basis: 

कुछ समीकरण एक वनवित प्रणाली स ेहल दकए िात ेहैं। उसी आधार पर ददए गए चार विकल्पों में स ेप्रश्न के वलए सही उत्तर 

चनुकर वलवखए। 

2 + 4 + 6 = 48 and 
3 + 2 + 8 = 48 , 
then 2 + 5 + 7 = ? 
(a) 48 
(b) 70 
(c) 14 
(d) 59 
 
Q19. Select the missing number from the given alternatives 

ददए गए विकल्पों में स ेअज्ञात सखं्या का चयन करें. 

 
(a) 19 
(b) 22 
(c) 26 
(d) 25 
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Q20. If North is called North west, West is called South west, South is called South east and so on. A 
person walks straight from South west to North east and then turns left. Walks straight and again 
turns left. Now at what direction he is facing? 

यदद उत्तर को उत्तर पविम कहा िाता है, पविम को दवक्षण पविम कहा िाता है, दवक्षण को दवक्षण पिूथ कहा िाता ह ैऔर आग े

िी ऐसा ही चलता ह।ै एक व्यवक्त दवक्षण पविम स ेसीध ेउत्तर पिूथ की ओर चलता ह ैऔर दिर बाए ंमडु़ता ह।ै सीधा चलता ह ै

और दिर स ेबाए ंमडु़ता ह।ै अब उसन ेदकस ददशा की ओर मखु कर रहा है?  

(a) South/दवक्षण 

(b) North east/उत्तर पूिथ 

(c) North/उत्तर 

(d) South west/दवक्षण पविम 
 
Directions (21-23): Select the related word/letters/numbers from the given alternatives:  

ददए गए विकल्पों में स ेसम्बवंधत शब्द/िणथ/सखं्या का चयन करें. 

 

Q21. Medicine : Patient : : Education : ?  

दिा : मरीि : : वशक्षा : ? 

(a) Teacher /वशक्षक 

(b) School /विद्यालय 

(c) Student /छात्र 

(d) Tuition /ट्यूशन 
 
Q22. LAMP : IXJM :: FISH : ?  
(a) CGPF  
(b) CFQE  
(c) CFPE  
(d) CGQF  
 
Q23. 13 : 20 : : 17 : ?  
(a) 25  
(b) 26  
(c) 27  
(d) 28  
 
Q24. Find the odd word / letter / number from the given alternative  

ददए गए विकल्पों में स ेविर्म शब्द/िणथ/सखं्या का चयन करें 

(a) Rival / प्रवतद्वदं्वी 

(b) Opponent / विरोधी 

(c) Foe / शत्रु 

(d) Ally / वमत्र 
 
Q25. Find the odd word / letter / number from the given 
alternative  

ददए गए विकल्पों में स ेविर्म शब्द/िणथ/सखं्या का चयन करें 
(a) POCG  
(b) KLIZ  
(c) BUDX  
(d) FQMV  
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